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Solutions for English Teaching

Worksheet 1

Exercise 2 — Sentence Headers

Read the following sentences and finish them in your own words

1. Pollution from cars can cause health problem such as...
2. People in the UK use their cars more than anybody else in Europe despite...
3. An increase in road traffic has resulted in...
4. One reason for climate change is due to...
5. Most of us walk and cycle less because...
6. Not only does physical exercise reduce the risk of heart disease but it also...
7. As well as reducing the risk of heart disease physical exercise...
8. Children are suffering from illnesses due to pollution for example...
9. In addition to climate change an other environmental problem caused by car
exhaust emissions is ...
10. Research into child road accidents has shown that the number of road accident
child fatalities has actually gone down. However, this is because...
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Solutions for English Teaching
Possible Answers

1. Pollution from cars can cause health problem such as asthma and obesity.

2. People in the UK use their cars more than anybody else in Europe despite
owning fewer cars.

3. An increase in road traffic has resulted in increased greenhouse gases.

4. One reason for climate change is due to car exhaust emissions.

5. Most of us walk and cycle less because the roads have become more
dangerous.

6. Not only does physical exercise reduce the risk of heart disease but it also
helps reduce pyschological problems such as anxiety.

7. As well as reducing the risk of heart disease physical exercise can also help
people lose weight.

8. Children are suffering from illnesses for example asthma and obesity.

9. In addition to climate change another environmental problem caused by car
exhaust emissions is air pollution.

10. Research into child road accidents has shown that the number of road accident
child fatalities has actually gone down. However, this is because the roads
have become more dangerous and therefore children are staying at home more
and walking less.
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